P31.32 1FEOFARME (5L L T2 5 0fRE)

1.
(1) —3x2—4x+5x+x¢2 (2) 3x24+3x+1—(4x+2x2)
=—2x2+x =3x2+3x+1—4x—2x?2
=x2—x+1
(3) 3 m—4n+(—2m+n) (4) 5x—6y—(x—3y)
=3m—4n—2m+n =5x—6y—x+3y
=m—3n =4x—3y
(5) (—3x+y)—(—y+2x) (6) m—10n—6(2m—n)
=—3xt+ty+ty—2x =m—10n—12m+6n
=—5x+2vy =—11m—4n
(7) 3(x+3y)+(7x—y) (8) 4(3x—y)—2(6x—y)
=3x+9y+7x—y =12x—4y—12x+2y
=10x+8y =—2y
(9) 2(—x+y)+7(x+y—1) (100 4(2x—3y—3)-5(2x—y—3)
=—2x+2y+Tx+T7y—7 =8x—12y—12—10x+5y+15
=5x+9y—7 =—2x—7y+3
2.
(1) 0. 7x+y—(—1. 4x+y) (2) 2(1. 5x—y)+(—2x+1. 5y)
=0. 7Tx+y+1. 4x—y =3x—2y—2x+1. 5y
=2. 1x =x—0. 5y
(3) %<2x+y>—%<4x+y> (4) Sngy—SX;”
:ix—l-iy—ix—iy 3(5x—3y)—2(8x—4vy)
3 3 3 6 = 5
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"6 7  15x—9y—16x+8y
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(1) 3xx(—dy)=——12xy

(3) (—a)2x 2a=(—a)x(—a)x 2a

=2as

(7) 12ab+(—4a2x 2ab
12abx 2ab
= — :76b2
4 a2
(9) —x2%2y+ 2x+(—3y)
X2y X

 2xx 3y 6

(2) (—2n)x(—4n)=8n?2

(4) %xyx (2x)2
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=—6x3y
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10) —a?+ ——» —6ab
(10) —a 0 x ( ab)
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4. TE ¢ EH

(1) 3x—5y (2) 25x —3y+6
+) —3x+8y —) 5x—10y—6
3y 20x+7y+12

5.
—2(6x—2y)+2(x+3y)=—12x+4y+2x+6y

=—10x+10y KoK
=—8+14=6 A



